CLAD

GARAGE SOLUTIONS

7 DRAWERS ROLLER CABINET + 214 TOOLS
Reference : EG 1100BL

[tem name 7 DRAWERS ROLLER CABINET + 214 TOOLS

EAN code 3701555311289

Intro Thisroller cabinet tool set is perfectly made to meet the needs of an apprentice or small
mechanic.

Contents Contents:

- 7 drawersroller cabinet

- 1 screwdriver insert (15pcs)

- 7 torx screwdrivers (mm): T9x75-T15x100-T20x100-T25x100-T27x100-T30x100-
T40x150

- 4 phillips screwdrivers (mm): PH2x38-PH2x100-PH3x150-PH1x75

- 4 pozidrive screwdrivers (mm): SL6x38-SL5x75-SL6x100-SL6.5x150

- 1 pliers and hammer insert (13pcs)

- linternal straight circlip pliers

- 1interna circlip pliers, curved nose
- 1 straight external circlip pliers

- 16" bending pliers

- 16" diagonal pliers

- 1 combination pliers 8"

- 1long nose pliers 6"

- 110" water pump pliers



- 1 general-purpose hammer 300g
- 4 scissors (mm): 3x150, 5x150, 6x150, 8x150

- 1 socket and ratchet insert (64pcs)

- 17 sockets 1/2" DR (mm): 10-11-12-13-14-15-1-17-18-19-21-22-23-24-27-30-32
- 15 sockets 3/8" DR (mm): 8-9-10-11-12-13-14-15-16-17-18-19-21-22-24
- 13 sockets 1/4" DR (mm): 4-4.5-5-5.5-6-7-8-9-10-11-12-13-14

- 3 ratchet handles: 1/4" , 1/2", 3/8"

- 3 1/2" sockets (mm): 17-19-21

- 11/4" cone

- 3universa joints: 1/4", 1/2", 3/8

- 3dliding bars: 1/4", 1/2", 3/8

- 2 1/2" extension bars: 5" and 10

- 2 extension bars 3/8": 6" and 3

- 2X 1/4" extension bars: 4" and 2

- 1 bit insert (102pcs)

- 48 bits 1/4" 35mm: T8-9-10-15-20-27-30-40 / TT8-9-10-15-20-25-27-30-40 / PHO-1-2-
3 SL4- 55-6.5-7/ PZ0-1-2-3 M7-8-10-12 / H3-4-5-6-7-8 /TS10-15-20-25-27-30-40-45-
50

- 24 bits 30 mm: SL8-10-12 / T40-45-50-55-60-70 / PZ3-4 / PH3-4 H7-8-10-12-14 /
TT40-45-50-55-60-70

- 6 pieces 1/2" short bits 55 mm: M16-H24-H22-H19-H17-H14

- 22 long sockets 1/2" (mm): T80x100, M16x100, M9x100, MP9X 100

- T40x140, T45x140, T50x140, T55x140, T60x140, T70x140, M10x140, M12x140

- M14x140, MP10x140, H10x140, H11x140, H13x140

- H5x160, MP8x250, MP7x240, H7x240, H30x300

-1 1/2" coupling

-1 1/2" M15 impact socket

- 1 wrench insert (20pcs)
- 12 ratchet combination wrenches (mm): 8-9-10-11-12-13-14-15-16-17-19-22
- 8 doubl e offset ring wrenches (mm): 6x7-8x9-10x11-12x13-14x15-16x17-18x19-20x22

Warranty period  2years

Tariff code Tariff Normal (TN)
Product range B-Line

Warranty ProcedureEASY

0.200005H



CLAS EQUIPEMENTS Tel : +33 (0) 4 79 72 62 22 Monday to Friday - From 8 to
83, chemin de la CROUZA Fax : 12h30 and from 14h to 17h30

73800 CHIGNIN (16h30 on Friday)
France




